Christmas Hidato

THE RULES OF THIS HIDATO-LIKE PUZZLE ARE AS SIMPLE AS ADDICTIVE.

YOU NEED TO FILL ALL THE EMPTY CELLS IN THE GRID SO THAT THE CELLS
FORM A CONSECUTIVE CHAIN OF NUMBERS FROM 1 TO 144. YOU ARE ALLOWED
TO CONNECT THE NUMBERS HORIZONTALLY, VERTICALLY OR DIAGONALLY.

BOTH THE START AND HIGHEST NUMBERS ARE PRINTED AS CIRCLES.

113 (112111119 108 {107 | 14 18
114|118 (110(120|105|106 16 | 19 | 21
115117131 104 |121| 10 | 12 7124 |22
125129 (132|122 116 (25| 4
1261128 (124|123 143 98 | 5
140 (134 (142 | 93 99 (100 27
1371139 94 96 | 29 | 28 @
85 83 | 82 63 162 |61 45|30 |3l
86 | 84 79 | 66 34
75 69 | 78 | 67 | 65 | 57 (47 |59 [ 43 |35
74 | 70 68 56 | 51 48 39 | 36
72 | 71 | 54 | 55 50 41 37

copyright:

www.mathinenglish.com




Answers

THE RULES OF THIS HIDATO-LIKE PUZZLE ARE AS SIMPLE AS ADDICTIVE.

YOU NEED TO FILL ALL THE EMPTY CELLS IN THE GRID SO THAT THE CELLS
FORM A CONSECUTIVE CHAIN OF NUMBERS FROM 1 TO 144. YOU ARE ALLOWED
TO CONNECT THE NUMBERS HORIZONTALLY, VERTICALLY OR DIAGONALLY.
BOTH THE START AND HIGHEST NUMBERS ARE PRINTED AS CIRCLES.
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